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PART A: Vocabuiar}'

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence. Then mark
vour choice on your answer sheet.
e

1 =In some parts of this country, it1s .......... ...... to offer those who repair the cars extra tips.
1) miserable 2) customary 3) consecious 4} external
2 1 have many indigestion problems and my doctor recommended that Teat ............... home-caoked meals
instead of fast foods. _
1} wholesome 2) incredible 3} transparent 4) remedial
3 _I searched all the comners of the house but T didn't found them it seems that my glasses have ...............
1) counseled 2) prospered 3} vanished 4) protested
4 _Jt's aboui time the city put up a stop sign at that comer, an accident ............... therc every months or two.
1) exhausts 2y preurs 3) assumes 4y interprets
5_L.............. remembered having met her before though 1 couldn’t exactly remember when.
1} vaguely 2) specifically 3) customarily 4) adeguately
6 - He had been a very strange man, he had become ............... 10 living without electricity, and missed it very
little.
1) emphasized 2} eliminated 3} withdrawn 4) accustomed
7 . The businesses that will survive will be those that ............... changes in technology.
1} anhicipate 2} strive 3) transform 4) respond
8 = There is still some ... ..oooennies on the part of employcrs to become involved in this project.
I} triumph 2) reluctance 3) revision 4y appeal
9 _Holding copyright provides the only legal ............... against unauthorized copying.
1) hesitation 2) objecticn 1) remedy 47 exhaustion
10~ We should be stronger, in fact, we should not allow her personal difficulties to ............... from her
public achievements.
1) establish 2) resort 3) propose 4} detract

PART B: Grammar il
Directiony: Read the following passage and decide which cheice (1), (2), (3}, or (4) best fits each blank. Then

mark your choice on your answer sheel.
T W i P

The first two decades of this century _....(11)..... by the microbe hunters. These hunters had wacked down
one after .....(12).... of the microbes responsible for the most awful disasters of many centuries; tuberculosis,
cholera, diphtheria. But there remained some terrible diseases ....(13)..... no microbe could be blamed: scurvy,
pellagra, rickets, beriberi. Then it was discovered that these discases were caused by the lack of vitamins, a trace
substance in the diet. The diseases .....(14)....0r cured by consuming foods that contained the vitamins, And
s in the decades of the 1920's and 1930's, nutrition ....(15)..... 2 science and the vitamin hunters replaced the
microbe hunters. - .

11:4

1) dominated 2} were dominated 3) which dominated 4) was dominated
¢ -I} another 2) other 1) the other 4) others
It -1} in-which 23 by which 3) for which 4) whi:;h
= -E} could prevent 2) which could prevent 3} could prevented 4} could be prevented
15 -

I) has become 2) became , 3} had become 4) was become
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2),
(3}, or (4). Then mark the correct choice on your answer sheet.

AR T

L TR s

Passage 1
Whether it's due to cloud computing, mobile usage or the needs of Big Data, servers are expected to work
“harder over the next few years. HP hopes to create a new server market niche for those kinds of organizational
demands with its first Project Moon-shat system, servers that are smaller, aggressively priced and use energy
much more efficiently. HP is also hedging its bets by working with a wider range of chip companies.
HP on Monday announced the availability of a new platform of micro-servers in its Project Moon-shot
program as it tries to carve out a new energy efficient, lower-cost niche in the server market. The company says

the new servers are designed to help companies and organizations deal with the challenges of current computing
irends such as cloud computing, Big Data, and mobile and social usage.
[.ast June, the vendor said it would use the "Centerton" Atom processor from Intel in the platform, and

would begin shipping in early production to customers by the end of 2012. It has done so, said John Gi':urr';ﬁ'is_u,' a
director of product marketing at HP.

A Moon-shot 1500 chassis can take up to 45 hot-swappable servers running Centertons. The price for a fully
loaded machine with one network switch will start at nearly US$62.000.

HP will use processors from Intel, AMD and other vendors in the Moon-shot servers. In a company press
release, the company said Project Moon-shot servers will use chips that normally show up in smartphones and
tablets, which will allow the servers to be mare energy efficient and take up less space in data centers.

"No one really knows what the game will look like in the future, so HP is trying to make the widest bet
possible,” said Jim McGregor, tounder and principal analyst at Tirias Research. "They are trying to create the
most flexible platform for whatever direction the industry and the technology go. At the same lime, they are
addressing three of the major issues - power, cost and size/form factor.”

16 = Which of the below is not one of the reasons servers will be working harder in the years to come?
“1) Cloud computing '/i} New technology of servers

3) Mobile usage 4) Big data
17 « Which of the below is not one of the specifications of HP' s new servers?

1} Smaller dimensions 7T WJZ) Using more energy

3) Aggressive prices 4) Efficient energy consumption

18 - Which of the below best replaces the phrase "hedging it's bet's"?
1} Increasing it's chance of success 2} Improving the quality of it's products
3) Keeping it's choices open 4) Tmproving the quality ol it's chips
19 - Which of the below is not correct about "Centerton™?
-# 1) It is an atom processor. -
2} Tt shall be used in the platform of Moonshot program.
3) In the Moonshot program Centertons shall be run by hol swappable servers.
¥ 4) 45 hot-swappable servers shall run a single Cenlerton,
20 - What is the outcome of using normal smartphone & tablet chips in the servers of Moonshot program?
#13 Mare efficient energy consumption & decreasing occupied space in data cenlers.
2} Increase the speed of data processing.
3} Decreasing the space & energy consumption of data centers.
4} Bring in different vendors for supplying chips.

Passage 2
The M2M (machine-to-machine communications) industry is undergoing a period of fundamental change

and significant growth,

‘Encouraged by declining chipset and sensor costs, manufacturers are increasingly embedding their products
with wireless connectivity. Mobile operatars and key players in industries as diverse as automotive, oil and gas,
and healthcare all have a strong interest in pursuing this growing market.

diagnostic and monitoring market represent the two biggest opportunities for carriers in the consumer M2M
health space.
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Two distinct trends are driving these opportunities:

1. People are living longer but not necessarily healthier. The aging population is a global phenomenon
affecting the U.S., Western Europe and Japan, among others. Incidences of chronic conditions are high in most
developed countries and on the rise in major developing nations, such as China, due to changing Hfestyles (e.g.,
high-calorie diet, stress, sedentary jobs) and increasing environmental hazards (e.g., pollution and poor air
quality). The consumer desire to age at home drives demand for intelligent sensor systems that enable at-home
self-care.

2, Rising healthcare costs are pushing care delivery to cheaper, convenient, patient-centric aliernatives. Use
of telehealth solutions and services will consequently increase, and help drive demand for connected medical
duvices for diagnosis and monitoring,

One consumer segment in particular shows solid interest in paying for home health monitoring technalogies
{caregivers).

Parks Associates estimates that 18 million houscholds in the U.S. have at least one caregiver looking after al
least one patient or an aging parent. More than one-third of these 18 million households are willing to pay fora
fall-detection solution, and more than one in four would pay for a telehealth service or a location-tracking

service.
71 - What has drawn operators to wireless connectivity?

#1) Declining in chipsets
3) Decreasing costs of chipsets & sensors

23 The costs of sensors
4) High chipset & sensor cosls,

22 . What does "this growing market" refer to?
1} M2ZM industry
3) Oil & gas & healthcare

23 . Which of the below arc the advantages of M2M connectivily in healthcare?
1} Aging-in-place & home-based diagnostic are great opportunitics for other indusiries.
2} Carriers in the consurner M2M health space.

3} A variety of care, costs & services.
} Tmproved care, lower costs & more efficient services.

2} Declining chipset & sensor costs
4) Diverse industries such as automotive

24 o "People are living longer but not necessarily healthier” refers to:
1) Growing population of clderly people 2) Growing health issves in the aging population

3) Changing lifestyle in china 4) Pollution & air quality issues

23 = What does "telehealth” services refer to?

1) Connecied medical devices

2} Health services provided by telephone

3} Healthcare provided by machines connected by wireless methods

43 Services provided by caregivers
Passage 3

Samsung is researching a system that would allow consumers to use thought control on a tablet computer.
according to published reports,

Together with Roozbeh Jafari, an assistant professor at the University of Texas at Dallas, the company is
testing how sensors and brainwaves could let users turn on a Samsung Galaxy Note 10.1 tablet, launch
applications, select contacts or choose songs from playlists. gt

The research is part of Samsung's efforts to find new ways to interact with maobile devices.

"This is the same idea as Google Glass and it looks gimmicky right now, but if they do it right and they come
up with a good strategy, it will have some legs because the world is moving towards more gesture-controlled
user interfaces,” Julien Blin, a directing analyst at Infonetics told TechNewsWorld.

Samsung has "probably been working on the project for a couple of years now and they're only just talking
about it," Blin said,

Samsung's experiment requires test subjects to wear a cap studded with electrodes. Conventional electrodes
have to be wet, or require the test subjects' scalp to be smeared with a liquid gel to improve conductivity. They
can take up to 45 minutes to apply.

However, the electrodes used in Samsung's research, which were designed by Jafari, are reportedly dry and
take about 10 minutes to set up.

The dry electrodes make for lower signal quality, but Jafari is working on improving brain signal processing.
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Faor the tablet control experiment, the researchers monitored well-known brain activity patterns that happen
when people sce repetitive visual patterns. They found that test subjects could launch an application and make
selections within it by concentrating on an icon blinking at a certain frequency.

It appears that the ressarchers are building on the fact that lights flashing on and off at certain frequencies
may cause epileptic seizures, or can otherwise impact neural functions. "That's how they are gﬂ@h]_amzmg the
system with the brain," Rob Enderle, principal analyst at the Enderle Group, told TechNewsWorld i

26 o« The research on Galaxy note tablets does not consist of:
1) Controlling tablets using thoughts
2 Using brainwaves for giving commands to tablets
3) Launch applications to select contacts or choose songs in tablets
47 Tesls sensors & brainwaves (o control tablets
27 - What is the best replacement for “gimmicky™ in the text?

1) Tricky 2y clear 3} Prospective 4} Interesting
28 = What does "it will have some legs" rofer to?
1) It will be able to walk. 23 It will fall or collapse.

3} It has problems & shortages. 4) It will have potential to continue.
20 _Which of the below is not one of the differences helween conventional electrodes & electrodes designed by
Jafari for Samsungs research?
1) The need of ﬁﬂl applicd to the test subjeet”s sculp
2) The need to he worm on the sculp
3} Time required to setting it on the sculp
4% The need of wet electrodes
30 = Which is not comect abouwl synchronizing brain activity with the system?
|} Subjects need to concentrate on a cerlain icon.
2} The light on the screen will go on & off with a certain frequency.
* 3) Lights flashing on & off can have impact on neural functions.
4) Subjects can make commands by blinking with a certain frequency.
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